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M HAPAZH|(NHA=2)
s Jl=2ghl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
A =gt 25,701,635 21,561,970 4,139,665
= 2,301,400
[ 404,000
= 305,740
Al 22,690,495
HH2LIHI(AR =) 25,244 25,244 0
J1I=288l 25,244 25,244 0
JI=23Hl 25,244 25,244 0
201 2egh=3| 11,044 11,044 0
01 At2t2ltl 11,044 11,044 0
Ogit=3ZH| 2,980
—JIZ2ARESHI 30,0002 162 480
—ALREXE N 20,00021452 100
-2y =57 60,0002 * 122 720
—&3)| HER 40,0003 * 122 480
—MEAss 10,0002 x5+ 123 600
— 42 =48 50,0002 122 600
OgeEa e
8,000 x14H+6A!x 122 8,064
202 04| 8,400 8,400
01 =LHO LI 8,400 8,400
OZ8 =0 50,0002 x14E«12& 8,400
203 HR=H| 4,600 4,600
03 A= L2 FAIH| 1,000 1,000
SRR Y ER-EES]
1,000,000& 1,000
M FAZSHIFII 3,600 3,600 0
OFAMEZE = 300,000 * 122 3,600
204 APt AH 1,200 1,200
01 MG HI A 1,200 1,200
OXH_SYE R+ S| 100,000& 122 1,200
=S¢ 2Z 4y I3 19,625,194 17,069, 153 2,556,041
= 235,200
= 404,000
< 80,800
Al 18,905,194
gl =4 838 X4 923,500 1,073,700 A150,200
= 404,000
=S 80,800
Al 438,700
Sl0lE NS HEAY 848,000 998,700 /150,700
[ 404,000
= 80,800
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N Zel s #E AN
&t 2 = g8 =4 (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 363,200
402 2I2FX=01 & 848,000 998,700 A150,700
[ 404,000
= 80,800
Al 363,200
03 2IZ+RAETAIS I 848,000 998,700 /150,700
O£dUI0IE HMel RFAS (=)
493,400,000 493,400
[ 246,700
= 49,340
Al 197,360
OS0IE HMel NZAIS(FLAHE = X
SE) 125,600,000 125,600
[ 62,800
= 12,560
Al 50,240
OS0IE HMel NZAS[LEDF L 3E
=& XS] 30,000,000 30,000
OsdIOIE XMl XA (= 2))
199,000,000 199,000
s 94,500
s 18,900
Al 85,600
SZllol & SZLEAD 2af 75,500 75,000 500
301 LELE NS 75,500 15,000 60,500
14 JIEt2d=3 75,500 15,000 60,500
OAHIoi M 2a3(A 2E3)
5,500,000& 5,500
O=g0t=s =AM N2z
70,000,000 70,000
Ml 28 =4 18,580,838 15,850,824 2,730,014
= 235,200
Al 18,345,638
HEHDIZ =28 ALY 17,187,993 14,394,470 2,793,523
101 @124H| 4,109 4,010 N9
M ORIMZZ2NSE S 4,109 4,010 e
O A ot el 4,109
—Jl2= 83,2802 x8H 6 3,332
—Fay 83,2802 482+ 12 667
~1DE U ATHEER 109, 9402 10
307 lztol & 17,173,884 14,350,460 2,823,424
05 21t = 17,173,884 14,350,460 2,823,424
OAl BXS(S8S M) 3Ltdb(=E2
Btot2&EA) 16, 123,786,000 16,123,786
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N Zel s #E AN
Rl A0 2E =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oz==s 40 At
955,921,947& 955,922
OX gD SN SF i< &bl
94,176,000& 94,176
401 AIEHIZ SR OHYI 10,000 20,000 10,000
01 Al&HI 10,000 20,000 10,000
OSEM S5 22&1 A
10,000,000 10,000
HEHDIS Fa2tc 602,430 582,019 20,411
101 @124H| 80,000 92,439 A12,439
MU IIRIMZZENSES 80,000 92,439 A12,439
OS&etAIdhl 12| 80,000
—QIAH| 80,000,000& 80,000
201 et 3| 13,030 13,030
01 At22t2l] 13,030 13,030
ouzzas & MHHdstes N 6,880
— &AL 2,000& *200JH*62] 2,400
—0t = 5003 +8,0000HK 4,000
—oanE 4002 *2002Z ci| *62 480
Omll22d 1A 7
10,0003 65+23] 100
O==oliMeddl & HZESAl A &Rt
400,000 * 122 4,800
OgxIX Il HIIEXNEFES
15,0003 *50& 750
OUEHIIZ FAde| L2
500,000 500
308 XXM SO0IH 509,400 476,550 32,850
B IERg=s 509,400 476,550 32,850
OUZHIIS(ZSLEMESE HEHII=S) e
X2 282 30,000& 15,0002 *1.132& 509,400
ot & otMeD] A 336,000 400,000 64,000
= 235,200
Al 100,800
101 ©1AH| 95,477 171,459 AT5,982
= 66,834
Al 28,643
M ORNZZ2NSE S 95,477 171,459 AT75,982
Odta - ot FFXHD| = UFY
75,726,000 75,726
= 53,008
Al 22,718
OFs=+9 & 28 19,750, 7702 19,751
= 13,826
Al 5,925
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Al 3,300
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Odtd - ot R4 =HESFY
11,000,000 11,000
= 7,700
Al 3,300
401 AIEHIZ R 0HYI 229,523 215,541 13,982
= 160,666
Al 68,857
01 Al&H| 227,882 214,000 13,882
Odtd - ot ERX2J| =HHM2IAIS
227,882,000 227,882
= 159,517
Al 68,365
03 AIESTHYI 1,641 1,541 100
Odtd - ot ERMYH I =AHAXCIAME
227,882,000 0.72% 1,641
= 1,149
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MelJ] SEM Al 402,835 348,755 54,080
201 Ler23| 9,500 9,500 0
01 At2teltl 9,500 9,500 0
OMIISEN SFEH0HA ZHEAI=
50,0002 *200K 1,000
OUgII= Xl dNHZH el ===
8,500,000& 8,500
206 MH=H| 368,535 339,255 29,280
01 MHZH| 368,535 339,255 29,280
OMeD| SEH S5 M 287,700
- 100, 110
-54 31+80,0000HK 2,480
-10¢ 38+120,0000HK 4,560
<208 573 %110,0000HK 6.270
<504 1243 %700, 0000H 86,800
— AL 174,050
- 10¢ 4131+850,0000HK 34,850
<208 582 *2,400,0000H 139,200
—558 13,540
<208 57%20,0000H 1,140
-50¢ 124%100,0000K 12,400
O=zYE+SHSSE SFNH(014)
57%100,0000H 5,700
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSASMYD| B2 H2E 7Y 13,500
52,200,602 ,1204 302 %450, 0004 13,500
OSTRIZH 4,825
—2& S8(5¢0.,20£,604 ,1204)
3,000,00024 3,000
—54 115,000%14 115
—102 . THAHZ10 4 140,000%24 280
—202, MAI2 200 , S22 204
210,000%374 630
—504, 3B 504 400,000%24 800
ORsAREI| 7Y 400,00024 *1200H 48,000
OSASMY D 18I 7Y
39,0002 2000 7,800
OsAl2 UHNEAAE S2H & M= 1,010
—1204 38+10,00004 380
—Z s 630+1,00004 630
207 SN 20,000 0 20,000
01 47| 20,000 0 20,000
OMYD| BHH 42 AINNE IS
20,000,000 20,000
405 XA SH 4,800 0 4,800
01 AL SEFH SH| 4,800 0 4,800
OUEEHII2 =M SLI| B
400,000 % 12CH 4,800
PUE)| S TS 51,580 125,580 AT4,000
201 YEH2 | 8,880 8,880 0
01 AtR22/d| 7,200 7,200 0
OREEI| X B4 ME
10,0002 %20 2,200
OHLHEY AREX S|
3,000,00084 3,000
OSEEI| 2AIBHHIRE S2i8l
2,000,00024 2,000
2 S| 1,680 1,680 0
OZEXNS(FIIH) M3
1,100,000 1,100
OB M) KHSIHAI
80,0002 80
OZESX2H(FIIXH) 22| 500,000 500
202 Oit 7,200 7,200
01 ZUoidl 7,200 7,200
OFA~EHE HRFA ol
20,0002 x5 =4+ 128 4,800
ORSEI| Y2 0iHI(S2H)
20,0002+ 15 #1022« 122 2,400
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301 LPBNZ 1,000 1,000
14 J|EI2 A3 1,000 1,000
OMgD] R8I0 ZaZ
1,000,000& 1,000
401 AlEHIZLE0HY| 14,500 14,500
01 Al&HI 14,500 14,500
Okt RHED| Z0E FH| 14,500
—RHEI| ZNE ARAX
500, 000& *20JH 2~ 10,000
L5 2UE)| 0o B4
150,000 *300H 2~ 4,500
405 XHebE S| 20,000 94,000 AT74,000
01 AL =EFSHI 20,000 4,000 AT74,000
ORHE)| @58 0|84 JHdet 7
4,000,000 *5CH 20,000
BHEAA0NHS 29 2l 120,856 144,629 AN23,773
OIME 40H= 2el 120,856 144,629 AN23,773
101 21 d| 117,656 141,429 A23,773
M IIRINZ2EXSEs 117,656 141,429 A23,773
OA= &2 Fdl & HA ol4y] 117,656
=Jl23 87,7603 28«36 88,463
-5 87,7603 x28F 7 17,201
—SEas 11,992,000& 11,992
201 L2 AY| 3,200 3,200
01 AtR2elt] 3,200 3,200
QE24HATHAHIZE EE S| &2 M
110,000 *204 2,200
QEU A ATHAHIE EA ABF 7Y
250,000 #4042~ 1,000
N =2 317,700 482,220 A164,520
= 8,000
T 131,400
Al 178,300
A3 =8 olog 25 317,700 482,220 A 164,520
= 8,000
T 131,400
Al 178,300
MHetg JI=AIE &R 150,980 182,800 A31,820
= 3,000
& 96,400
Al 51,580
201 L2 AY| 43,100 47,420 24,320
01 A=R2teld| 2,000 2,000 0
Olfgs g=2F8 =2l 2,000,000& 2,000
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—e3Xs H/HEY Xs==21J| 24|
30,000,000 30,000
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40,0003 »82| &+ 1204 3,840
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15,0002 *7CH= 1204 = 1,260
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202 04| 2,880 2,880
01 =LHOLI 2,880 2,880
OMgE 2= 0yl
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= 3,000
=S 1,400
Al 5,600
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= 5,000
=S 5,000
Al 77,500
201 fer=3| 1,500 4,200 A2,700
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1,500,000 1,500
301 EtE NS 86,000 78,000 8,000
= 5,000
== 5,000
Al 76,000
14 JIEt2 = 86,000 78,000 8,000
OXY=&E2Z3 0IXZ AR S AL
243 1,000,000& 1,000
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OSAl HAl =8¢ dd=
20,000,000 20,000
OgsHIIZ HESS 2CliE Heis
30,000,000& 30,000
= 5,000
=S 5,000
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OgsHDIZ HE8E ZeltiE S (Al
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ol =& 82 & N2 79,220 17,220 62,000
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201 eer23| 3,500 3,500
01 AtR2t2|HI 3,500 3,500
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202 04| 6,720 6,720
01 =LHO LI 6.720 6.720
OHJIS2eIHB2F8 0|
20,0002 «4H+72 = 12042 6,720
307 elzto| & 49,000 7,000 42,000
= 30,000
Al 19,000
02 2IZHBYAIHE A 49,000 7,000 42,000
OHXA(HAXX &) +=E2S XA
9,000,000& 9,000
O1283 8l =M 227 X
10,000,000 10,000
OO0tol A THAIE gdat A&
30,000,000& 30,000
= 30,000
402 QI+ X201 & 20,000 20,000
01 QI X2 AL E X (KEMITHE) 20,000 20,000
OZalZ Cal8)] MALE =8 X
20,000,000& 20,000
A2 AE EX et 633,720 1,020 632,700
HIIZXelAE &X 633,720 1,020 632,700
HOISXeIAE FHXS FAUXNHE2AM 22 1,220 1,020 200
201 el 1,220 1,020 200
01 At22t2lt] 1,220 1,020 200
O=2IXNHE2AM 212 225 F
220,000 220
OFLUXAEAM A& As HA SAE
1,000,000& 1,000
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2 N Al £X1 et
el HOISX2IAIE EX (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Zletd Itaz=a S 21 At 632,500 632,500
201 er23 | 5,500 5,500
01 At2teltl 5,500 5,500
OYXHEH 3o 2RE 2
2,000,000& 2,000
Oy =29 22 24| 3,500
—YRLF3e K|z
350,000 *1CH* 102 3,500
202 04l 3,000 3,000
01 2LHoIH 3,000 3,000
ONfEs B2 MEX| 28, AEXY, D
= S 0l 3,000,000& 3,000
301 EetE2 NS 18,000 18,000
11 #AIAHIXIE S 18,000 18,000
OXrE =8tk o 301 QA NE A
3,000,000& %52 15,000
Ogldd 883 S 1,000,000& *32 3,000
308 AHXIEMSOIH 6,000 6.000
18 SIS0t oA AS A 6,000 6,000
OgXZY 2l ME S HIS
1,000, 0002 27 2-*33] 6,000
401 Al HIZ S OHbI 600,000 600,000
01 A28l 600,000 600,000
Oodad =g X &X At 500,000
—2X EIEH A 100,000,000 100,000
—defgergot 200,000,000 200,000
—CA H=(HE) 28 L NETH DAl
S 200,000,000 200,000
OEX s flgt 28Il S
100,000,000 100,000
A & deEd 2e) 4,800,235 3,688,705 1,111,530
= 2,068,200
== 93,540
Al 2,648,4%
Atetd e 2,590,000 1,578,760 1,011,240
= 1,990,000
Al 600,000
Aoietd 28 300,000 2,000 298,000
207 ARl 300,000 0 300,000
01 = 300,000 0 300,000
OFAldEfsi g E &Y
300,000,000 300,000
KA SE S A 2,290,000 1,576,760 713,240
= 1,990,000
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401 AlEHIZ S OHbI 2,290,000 1,576,760 713,240
= 1,990,000
Al 300,000
01 AlZHI 2,282,909 1,567,304 715,605
O&E - S0t TAIMEI=SJAY At
1,412,500,000& 1,412,500
= 1,412,500
OFZE 8 TAIYE= =3 Al
570,409,000 570,409
= 570,409
oS &8 TAIME= HEE X 24|
300,000,000 300,000
03 A& S CHYI 7,091 9,456 A2,365
O&g - S0t SAIMH==S/AIY R0
3,500,000& 3,500
= 3,500
OZ2Ls g2 TAIMES =3 ArgHl 20
Bl 3,591,000& 3,591
= 3,591
Olds - A2 2l 654,702 670,448 N15,746
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OrisS= TIoHMIEAIS 432,200 499,058 N66,858
= 33,200
== 73,785
Al 325,215
201 fer23y| 72,700 112,000 239,300
= 10,200
== 3,060
Al 59,440
01 At2teltl 72,700 112,000 A39,300
OOt S=0 2t s&HE S Ll &AL ===
= 330,000& =404 13,200
OROIESE AtMIE2 &1 YRz
9,500,000& 9,500
= 4,750
= 1,425
Al 3,325
ORoiorES= ALHIX 2l
50,000,000 50,000
= 5,450
= 1,635
Al 42,915




A =2t
M Tl U MES B2
s OFdSES - AlE 2l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
206 M=l 2,000 7,000 25,000
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ORdorlisE 28 225 FY
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301 EetE2 N = 298,500 277,058 21,442
=S 67,125
Al 231,375
14 0Bt 2as 298,500 277,058 21,442
ORoiOtES S0 28 sHS(UH)LIHE
& 50,000,000 50,000
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ORHoIMES TR
200,000,000 200,000
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Al 150,000
OSHOES IHLXS SHE NSAY
18,500,000 18,500
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Al 13,875
OFMOIESE L2 SH|
30,000,000 30,000
401 AlZHIZ SO 1,000 1,000
01 AlZ28| 1,000 1,000
OsHoMES TS 22|
1,000,000 1,000
402 QI2F X201 & 46,000 90,000 244,000
= 23,000
Al 23,000
02 QI X2 AL EE(OIETHE) 46,000 90,000 A\44,000
OO0rE S =11 oH ol 2 ALY 46,000,000& 46,000
= 23,000
Al 23,000
405 AtatE=H 12,000 12,000 0
== 3,600
Al 8,400
01 TR ESF SHI 12,000 12,000 0
Oltds=s2el Eatet HAuItnet 7
12,000,000 12,000
= 3,600
Al 8,400
OridE 25 ALY 88,116 116,061 N27,945
= 10,000
= 16,659
Al 61,457
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101 e124d| 81,316 110,261 A28,945
= 9,500
=S 16,579
Al 56,237
04 JRHNZZ2XSE S 81,316 110,261 N28,945
OUEH A netE = KA AIY 22 19,000
—JlEs 87,7603 722 13,516
= 9,500
Al 4,016
— 5, 0x=g 87,7603 x7 H+6 3,072
—288 S 2,412,000& 2,412
OOMYME 253 2IRY 50,484
—JI2=s 2,060,740 2+ 113 45,337
= 12,621
Al 32,716
—288 S 5,146,920& 5,147
OFHEIZEE gX| 253 22Y 11,832
—JlEs 78,8803 4 x202 9,151
< 2,958
Al 6,193
—F5 oxag 78,880 x4 24 452! 1,578
—2H2 S 1,102,360% 1,103
201 Let2 ] 4,600 4,000 600
= 1,080
Al 3,520
01 AtR2t2lt] 4,600 4,000 600
OOIMME 25 8140 X S
1,000,000& 1,000
Ox=gaelAlAg K& 3,600,000 3,600
= 1,080
Al 2,520
206 =4I 2,200 1,800 400
= 500
Al 1,700
01 M=4l 2,200 1,800 400
OdEfHnetd= HH S22 2
1,000,000 1,000
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Al 500
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3,000& »500t2| %42 600
O0tdsE *X8E 7Y 600,000 600
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201 2= 53,000 53,000 0
= 25,000
Al 28,000
01 At2telt] 51,400 53,000 21,600
2SS SERS £d 2SS WS
S 34,000,000 34,000
= 17,000
Al 17,000
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= 7,200
Al 7,200
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3,000,000& 3,000
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1,600,000& 1,600
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70,000,000& 70,000
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9,000,000 9,000
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Al 1,562,437
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201 Ler23 | 5,909 5,969 260
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OMN=E A= Hst79 XNEEH Hal 89
22,000,000& 22,000
SS3HEA 22| 1,527,624 1,433,528 94,096
& 3,096
Al 1,524,528
201 L2 | 322,954 219,898 103,056
01 AtR2telt] 178,550 106,550 72,000
O3==tEa E4 =2 48,950
—==HelAld U =& - Hel =2
125&*2,0002| E4*357H A 8,750
—20 40 27 - el +42
125%1*1,2002| E{ 674 2 *43] 40,200
O0lsAlzEA ALY Ols &XI|
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